ANNUAL EXAMINATION MARCH - 2019
CLASS -IX

MATHEMATICS - ANSWER KEY
BINOYI PHILIP, GHSS KOTTODI-9446270923

1. (a) @odelo=3—--5=3+5=8
(b) awyenflg=3+-5 =-2 =—1

2 2
——
2.(a 5
7
b)y1L=6 ,1 =_4
2 12 3 12
ie 1 >5 >_1
2 12 3
3. @ BC=8cm

(b) AB = 8V3 cm

4.(a) woowol=51+53+57+60+ 69 +70 = 360 =60
6 6

5. (a) AAPB @es aloqjsai’= % xABxBC= % x6x4=12cm’
(b) APAD mes aloqjgai’= % xPDxBC= % x3x4=6cm’
(c) AAQP s aloqgai’= 1/3 AAPB @os aloqjgal”
= 1/3x 12 =4 cm?
219380 AQPD @es aloqjgali’ = APAD @es aloqjgal’ + AAQP @es aloqsal”
=6+4=10 cm?

6.(a) V3x V3 =3
(b) (V3 + V2)(V3 - V2) = (V3) - (V2) =3 -2 =1
(0) V3-V2 (V3 +V2 0§ aysdmo = _1 = _1x (¥3-V2) = (V3-V2) = (V3-V2))
V3+v2) (V3 +v2) (V3-v2) 1

7.(a) A= nr?
(b) @re). YomaEBges EREEMING AUGYEMIM’ @YW DTB:AI6M)

8. (2) a1dwInal aleq|8al’ = aldBs)8al” X 2V
= 30 x5 =150 cm?
(b) a103001981 al0a|8AF = ald32j980 X DWQO

= 15x5=75cm’
9. P(x)=4x-4
(@QP(1)=4x1-4=4-4=0
P(2)=4x2-4=8-4=4
(b)gx)=ax+b
q) =1
ieax1+b=1
atb=1...e. (D
q2) =5
ie ax2+b=5
2a+b=5 i 2
atb=1 .. @))
2-@1) a=4
a=4 (1) @3 @yeodailajomd
4+b=1
b=1-4=-3

q(x)=4x-3




10. (a) @yoor = 10 cm

owoo h =5 cm

alBaloqjgal= r’ = 1 x 10 x 10 = 100 1 cm?

QUG080 = a1032j9801" X 9o =2mrh =2 x1x 10x 5 =100 1 cm?

(b) Q@@IaIa]8al=  aloBal0q 80l
2narh = nr?
2x12=r
ie r=24cm

11.(a)x=19 7+9+11+13+15+17+x =13
7
— 72+x=13x7
72 +x=91
x=91-72=19

—

(b)5,7,9.11,13,15,17, 19, 21

12. (a) a1ydalo = al1d3al0q|80i" X D@0
=36 x 18 = 648 cm’
(b) CV22IDE MREOTNOM AlYdnlo = @IEHHIMIREOHING QAlydalo

a’h = 648
2°xh =648
4 xh =648

h =648/4 = 162 cm

13. (a) 64—-46 =9x2
(b) aIom®g MUNIMET @RBH = X
B3 MOIMOOD GRAPo = Y
mooaly =10x +y

@EHERUS BOGIWIM &I Muoaly = 10y + X
@RIDTBEOS D X +Y = 13 i @))
10x+y+27=10y +x
10x+y—-10y—x= -27

9x -9y = - 27
X—V= =3 oo 2
X+y=130iie, )
@+@) 2x=10
Xx=5
x=5 (1) @3 @RyeoIalaldmd
5+y=13
y=13-5=8

mvoety =10x5 +8=58

4. 1,:1,=2:3
h1 . hz =9 : 4
(2) Q130063303 GBS @RUNINW. = V) & V)
= ]H'lzhl N ]Irzzhz
=22x9:3x4
=36:36
=1:1
(b) J1r12h1 = ]'Irzzhz
12X h1 = 22 X h2
h1 /hz = 4/1
h1 N hz =4 . 1




15.

7 cm mIgoml@d AB alo@d.

A ©1@3 40° 90 B @13 50° 90 qi0sf’ ©1@d aolesm.
AB, BC a1 a1006386S 010 LlosmIsaRud 1)’
231950 Mg eH@BROBST YONo AU

40°

16.(a) |x-2| =3

iex—2=43
—2 =3 @rWIad
x=3+2=5
-2 = -3 epWIsd \
Xx=-3+2=-1
o) [x-2] - |x-8]
x—-2=—-(x-8)
X—2=-x+8
2x=8+2=10
Xx=5
|x-2| + |x-8]| =|5-2| + |5-8]
= [3]+]-3]
=3+3=6

(c) 2<x<8

17. (a) avmaI1@o aPoc@®IHA] Qldalo = alBaldq |80l X 9@do
=10x 10 x 20 = 2000 cm®
(b) yomayoromlend @ryoe = 10/2 =5 cm

QYOHAYoRODINA Qlfdalo = aldBaldq80l” X 90O
= nr’xh
=nax 5°x20
=500 1 cm?®

18. (a) yowoeOad 2980l = 3 X 2120180
=3x10n =301 cm
(b) <AOC =360/3 = 120°
(€) a10a1MI80 = 101
ie 2ar x 120/360 = 101
2ar x 1/3 =101
r=15cm
DUV 219 BIVOOM aldgjgai’= a1’ x 120/360
=nx15°x1/3 =751 cm?

19.(a)71+78+75+80+a+b=80
6
ie 304+a+b= 80x6
a+b=480-2304
a+b=176
(b) a-b=10.............. (1)
a+tb=176............ 2
M+@2) ... 2a =186
a=186/2=93
a =93 (2) @3 @yeoailspad 93 +b =176
b= 83




20. sjgsai’=P
(a) a@ aloomIaag mlge = P/4
(b) A = (P/4)’
= P2
16
(©) ags0Nead aidgo
@RYMaldsHaucloo = 1/16

21. a5@1E06MENOM aldajgal = ¥2bh =142 x 6 X 8 = 24 cm®
(a) MoBOMING QlYdalo = aldBaloq 80l X 200
=24 x 15 = 360cm’
(b) ®@6mMo’ = al080° +  elosnio *
=6°+8
=100
@d6mo = V100 = 10 cm
a103U0IRRIa 10|80 = aldBaj80l" X Do
=24 x 15 =360 cm?

22. 12 cm mIgoml@s AB aloge
AVDBHOY(@JBRIW GHIGMIMD
2+2+3=7cmngomlas AC a10s)
A @3 mano 2 cm erseel E o

4cm ereeel D @o Grswignq |some:

BC cwozlqflof Bc @ avaoamoaow]

D olgjoso E @lgjasge avaoamno aioseud
2102 AB 6@ G e F gjo ai0lasam.

F co@mowl AF mlgomleje G ea@3n0w1

BG migomlejo aio@am aioai6e80d P @@l
aolesao. A FGP @oem” aio@om aloeomm
@18526Mo

23.@a) |x+y|=|5+-3|=|2]=2
| = |

QN2 Vo6 B Bo BRUIMVOAILHOBSAERS: BROLIESIGE E6NE MVo6 d:Bo M PDTVORUDHOBGIRD
© lyl=-y

24.(a)AD=AB+BD=6+3=9cm

(b) AB =BC _
AD = DE
6 =4
9 = DE
DE = 6 cm
(©2:3

(d) @mlelesam @egancs AABC
ale@e. AD = 7.5 cm @8 010Q)d.
AC m5] alogé:.. BC @8” qumoamoaow) 5cm 7.5
D olegjos arogan aio AC mg]

alesjleom E 0@ golgmn. AADE @iem’AABC @os same ase@s’ 2jg980i88 @1EH06mMo

25. (a) @oo =2 m
PAIS8Om19} oo = 1 m
Qldado = aldBaloq |80l X 9o
=’ xh
=nx2*x1
=4n1=4x3.14=1256 m?
=12.56 x 1000 =12560 engd




(b) memss swoo = 10 m
Qlf0alo = aldBaldg|80l" X W0
=ar’xh
=n1x2*x10
=40n1=40x3.14=125.6 m*
=125.6 x 1000 =125600 eNgd

26. (a) P = V2
Q= -2
(b) @r@elo = V2 — —V2 = V2 +V2 =2V2
(©) eroo = V2
ajgsal’ =2 r=2xn1Xx V2

= 2V2 11 ey’
27.
@00 (Kg) af)emo afleowmow o ag)eo
21-23 4 22 88
23-25 7 24 168
25-27 7 26 182
27 -29 6 28 168
29 -31 3 30 90
31-33 1 32 32
@YD 28 728
MWy =728 =26
28
28. (a)
X 10 14 20
y 5 7 10
(b) x=2y
(©) @Re®. GRYMald®]:aucloo = 1/2
(d)x=y3y
2
@Yl Bauclo = _V3
2

29.(a) 10x+y
(b) 10
(c)a=53
(d) 77

(e)3

9




